SRR R AL 2 A e 2025500 F o2 AR RV SE I URSI AR (A2 HE)

2R (4 76 S
e W4 g b ARES B Hifil /A4 B | 1R | ke | Tikek | ik | EBst Z e
iilD) 54 45 5

1 | FE32% | 102845210520800 035101 | k4 (IRyE2) 4= H il 368 93 93.4 | 93.2 | 79.48

2 | F¥EF | 103355000910630 035101 | 34 (AR¥E 4= H il 360 95 91.4 | 93.2 | 78.36

3 B2 102845210510119 035101 | ¥4 (FEvE2 4= H il 361 86 89.2 [ 87.6 | 76.82

4 | 3k3ER | 103195320802756 035101 I FERES 4= H il 364 86 77.8 | 81.9 | 75.53

5 s 102855210009790 035101 | R4 (ARyE) 4= H il 360 76 90 83 75.30

6 | EIRIR | 102845210520195 035101 | k4 (FEvE2 4= H ] 366 79 76.6 | 77.8 | 74.58

7 ZL 103195321806707 035101 | k4 (FEvE2 4= H 370 63 86.2 [ 74.6 | 74.18

8 | TUlhe | 102845210516108 035101 | R4 (IR3E) 4= H il 363 76 77.4 | 76.7 | 73.83

9 | kMrz | 102845210520431 035101 | k4 (FEvE2 4= H il 362 73 79 76 73.48

10 B 102845210520264 035101 (RS E=kil 367 0 0 0 51.38 | MFFEIR
11 | #pIA | 102845210515431 035101 HE FRES 4= H il 365 0 0 0 51.10 | JxEER
12 | %I | 106105035100402 035101 e RS E=kil 363 0 0 0 50.82 | HER
13 i 103195320802690 035101 i (RS E=kil 362 0 0 0 50.68 | MFFEIR
14 | 2=l | 102845210511102 035101 e RS E=kil 361 0 0 0 50.54 | HFE R
15 | Xz | 102845210523093 035101 e CEEED 2= H il 361 0 0 0 50.54 | HFE IR
16 | k2% | 102845210522135 035101 (RS 4 H il 361 0 0 0 50.54 | MEFEIR
17 | B&keid | 102865321508573 035101 i (RS 4 H il 360 0 0 0 50.40 | MEFEIR




